Total number of printed pages—6 : \
53 (CS 401) DBII\S\“‘ e
2019

DATABASE MANAGEMENT SYSTEM

Paper : CS 401
Full Marks : 100
Time : Three hours

The figures in the margin indicate
Jull marks for the questions.

Answer any ‘ﬁve questions.

1. (a) What is two-phase locking protocol ?
Explain conservative, strict and

rigorous two-phase locking protocols.
2+6=8

(b) Why concurrency control is needed ?
Explain the lost update problem with a
suitable example. 2+7=9

() What are the desirable properties of a
transaction ? 3

Contd.



\
A B

Pmoy | €
A
/&0

/ : \5 X Y/ OV, Auwedwod 243} 10}

3%

30N Jou op oym saakodwa e puly (a)
"'Pa1eO0] ST 3jI1om A3Y) yorym

10] Auedwod ay} yorym ur jey; se £

aures ay) ur 2A1] oym saakordwra e puty (a1

" OHdV, 10] j1om oym saafoidwa [re jo
20UQPISAI JO SINIO pUe SoWreu Y} puld (m)

'OdV, Jo 22koidwa A1aa9
uey) aIow ures oym saafoidws [re putgy (n)

'0gV, Auedwod ayj Ioj qIom
oym saakojdwa e jo sawreu ayj puiy (1)

(£30 ‘oureu Auedwoo) Auedwon

(Areres ‘oureu” Auedwod ‘Qureu uosiad) SHIOMN

(310 “y0ans ‘oureuuostad) sakoduwuyg

0C=Sxp

: snnoreo reuonje[al adny pue eiqoldre
reuoneras ur sauanb Jumoro] sy} Jomsue
pUe Bwayos [euoneas SUImmoro) a3 JapIsuo))

c ‘aidurexa
arqelns yiym sadAy diysuorjeras
N: Areurq Suirddew 10 wyjrriodre
Suiddew [euonjear o0l ¥y ureidxyg (3)

D/SNEA (10+ 8O) €S

4 D/SWNEd (10+ 80) €S

O=t+C - N
'sajdurexs a[qerms y3m urerdxy
¢ 8adA) s31 a1e jeyp ¢ SJUIRIISUO0D

uonjedonred £q uesw nok op jyeym (p)

€
¥ Jo s syeprpued sjdwis ay3 puly

(Vea‘a«vo«vvegog«v}
198 d PIM y uonepry. (9

¢ {oz-[gpvor=[vp) V4233

: uorssaidxa snnores ardny

Sumorio; syl 03 juareamba s1 YoryMm
uoissaidxs ®iqadre [euonear e UM (g

P=€+1

'S9[qe)} 39U} JO yoes JI0J BuWdYIS
a3} Sunum Jomsue Inok Amnsnp ‘zy
pue 1y ‘d ‘N ‘W jussaidar 0] papaau.
S$9[qe} JO Joquinu wnuwiuiw ayj vE,m

weiderp yg Summol[o] ayy Jopisuo) ()



S D/SNEA (10+ 82) €S ¥ D/SNEA (10+ SO) €S

L Ayyua TN & - ¢ Jusreamba s39s om] ay) Ay
Teinpaocoid-uou pue [einpadold (m) _
¥y «<ad0g«vVv:zd

sanqryye ;
panreannuw pue ajrsodwo)d (n) <A@ OWEaAO—gy‘gev:id
E}s souapuadap UOnOUNJ JO S19S OM] USAID)  (9)

oseqejep pue Bwayos aseqereq (I
NU\ S=€+C

6=CxE :UMI2(Q SVUIPIP Y3 LM :
ZexmAfzamaexy m
+ ¢ Jojensrurwipe aseqejep

e Jo sanIqisuodsar 2y} ar1e jeym (q \mTNuIN\nTu& ()

1=C+S ¢ S[PA9] BWIAYDS
usamiaq ssurddewr pasu am op Aym : S9N 20UAIJUT BUIMOT[O] Y} 2A01d (q)
*2IN3093IYOTE BWAYDS-92IY] 9y} aquosag (p) 9 .
= «Leyemny,, ut
P23B00[ OS[e ST jIom A3Y) Yorym Ioj
p=1+¢ ¢ yueyroduwir 1
s1 Aym ¢ uonisodwoosp e 10y Ayradoxd Mﬁmﬂﬂumm u%u%ﬂwowﬂmﬁﬂzwa L1
uonearssald Aouspuadop oy} s yeym (9 G T 9al] ona I e puld (m)
01 : ‘sojdurexa osu g
J|qeIms WM JNOE PUB gNE ureldxy  (q) %01 ®..0dV, JO seakojdwa [[e aai) (1) PN
T N
9 ‘Aox] Arewrud pue 09V, duedwoo /& i > ;
£33 ayeprpued ‘Aoy ‘Ao tadns auysag (p) 'S . oy} je Areres o3erose Iy} ueyy | 2 \

‘98eloae uo ‘Areres 19y31Yy ® ures
soofoidwa asoym sarueduwiod puiy -

,.//.....ln\ .

9=€x7 : Bummorroy oy 10§ % 5l

G :sopudpuadsp euonouny jo o 39S sauenb DS 9jum pue ¢ 'oN uonsang o
SUIMO[[0] oY} JOJ I2A00 Teoruoued puly (p) Jo Bwayds [euone[al 3yl JopIsuo) (p) 4

ocavaecvoecgog«vi=d




7. Write short notes on the following:
(any four) 5x4=20

(i DBMS Languages
(ii) Query optimization
(iii) Data independence
(iv) Fourth normal form

‘(v DBMS approach vs traditional file
processing

(vi) Schedules of transaction.
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